Fill in this infor	nation to identify the case:		
Debtor I	HOULIHAN'S RESTAU	RANTS, IN	IC
Debtor 2 (Spouse, if filing)			
United States Bar	kruptcy Court for the:	District of	Delaware
Case number	19-12416		

Official Form 410

Proof of Claim

RI

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

. Who is the current creditor?	ARAMARK Uniform & Career Apparel, J Apparel, Inc.	LLC fka ARAMARK Uniform & Career								
	Name of the current creditor (the person or entity to be paid for this claim)									
	Other names the creditor used with the debtor Aramark Unif	orm Services								
. Has this claim been acquired from someone else?	⊠ No □ Yes. From whom?									
. Where should notices and payments to the creditor be sent?	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different								
Federal Date of	c/o Sheila R. Schwager									
Federal Rule of Bankruptcy Procedure	Hawley Troxell Ennis & Hawley LLP	Name								
(FRBP) 2002(g)	P.O. Box 1617									
	Number Street	Number Street								
	Boise, Idaho 83701									
DECEMPT	City State ZIP Code	City State ZIP Code								
	Contact phone 208.344.6000.	Contact phone								
IAN 3 0 2020	Contact email sschwager@hawleytroxell.com	Contact email								
IAN CARSON CONSULTANT	Uniform claim identifier for electronic payments in chapter 13 (if you use one):									
. Does this claim amend one already filed?	 ☑ No □ Yes. Claim number on court claims registry (if known) 	Filed on								
		MM / DD / YYYY								
Do you know if anyone else has filed a proof of claim for this claim?	\boxtimes No \square Yes. Who made the earlier filing?									
	ate Stamped Copy Returned Proof of Claim o self addressed stamped envelope o copy to return	19124162001300000000005								

you use to identify the debtor	mber he ☐ No ☑ Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: Multiple								
How much is the claim?	\$	292,364.61	Does	this amount include interest	t or other charges?				
	_		⊠ N	0					
			□ Y	es. Attach statement itemizin charges required by Bankri	g interest, fees, expenses, or other uptcy Rule 3001(c)(2)(A).				
What is the basis of the claim?	Attach	redacted copies of any docum	ents supportir	ices performed, personal injur ng the claim required by Bank acy, such as health care inform	• • • • • • • • • • • • • • • • • • • •				
	Good	s Provided/Services R Rejection of Contract		iquidated Damages for	r				
Is all or part of the claim secured?	⊠ No □ Yes	. The claim is secured by a li	en on propert	у.	· · · · · · · · · · · · · · · · · · ·				
		Nature of property:							
			is secured by (a) with this <i>Pr</i>	1 1	ce, file a Mortgage Proof of Claim Attachment (Official				
		Motor vehicle	() with this <i>r</i> i	ooj oj Claim.					
		□ Other. Describe:							
		Basis for perfection:							
					ection of a security interest (for her document that shows the lien has				
		Attach redacted copies of do example, a mortgage, lien, c been filed or recorded.		tle, financing statement, or ot					
		Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property:	ertificate of ti	tle, financing statement, or ot					
RECEIVED		Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is	ertificate of til	\$\$	ther document that shows the lien has 				
RECEIVED JAN 3 0 2020		Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is	ertificate of ti s secured: s unsecured:	\$\$	ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.)				
JAN 3 0 2020	WTS	Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is	ertificate of ti s secured: s unsecured: any defaults :	<pre>\$\$ \$</pre>	ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.)				
REGENTIEU JAN 3 0 2020 RIZHANCARSONCONSULTA). Is this claim based on a	₩TS □ No	Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is Amount necessary to cure Annual Interest Rate (when Fixed	ertificate of ti s secured: s unsecured: any defaults :	<pre>\$\$ \$</pre>	<pre>ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.)</pre>				
REGENAZU JAN 3.0 2020 Rizhan carson consultai	□ No	Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is Amount necessary to cure Annual Interest Rate (when Fixed Variable	ertificate of ti s secured: s unsecured: any defaults n case was file	<pre>\$\$ \$</pre>	ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.) : \$ \$				
REGENTIZED JAN 3 0 2020 RTZMAN CARSON CONSULTA D. Is this claim based on a lease?	□ No	Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is Amount necessary to cure Annual Interest Rate (when Fixed Variable	ertificate of ti s secured: s unsecured: any defaults n case was file	<pre>\$\$ \$\$ \$\$ as of the date of the petition cd)% </pre>	ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.) : \$ \$				
REGENTIEU JAN 3 0 2020 RIZHANCARSONCONSULTA). Is this claim based on a	□ No ⊠ Yes ⊠ No	Attach redacted copies of do example, a mortgage, lien, c been filed or recorded. Value of property: Amount of the claim that is Amount of the claim that is Amount necessary to cure Annual Interest Rate (when Fixed Variable	ertificate of ti s secured: s unsecured: any defaults n case was file any default a	<pre>\$\$ \$\$ \$\$ as of the date of the petition cd)% </pre>	ther document that shows the lien has (The sum of the secured and unsecured amounts should match the amount in line 7.) : \$ \$				

12	Is all or part of the claim entitled to priority under 11 U.S.C. § 507(a)?		No Yes. Check all that apply:	Amount entitled to priority
	A claim may be partly priority and partly nonpriority. For example, in		Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$
	some categories, the law limits the amount entitled to priority.		□ Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C § 507(a)(7).	\$
	1 - 2		 □ Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4). 	\$
			□ Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$
			□ Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$
			 Other. Specify subsection of 11 U.S.C. § 507(a)(2) that applies. 503(b)(1)(A) Unpaid Post Petition Invoices 	\$ 32,154.42
		* /	Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or after the	date of adjustment.

Part 3: Sign Below										
The person completing this	Check the appropriat	e box:								
proof of claim must sign and date it. FRBP 9011(b).	\Box I am the creditor.									
	I am the creditor'	s attorney or authoriz	ed agent.							
If you file this claim	□ I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.									
electronically, FRBP 5005(a)(2) authorizes courts to establish local rules specifying what a signature is.	☐ I am a guarantor,									
	I understand that an a claim, the creditor ga					ment that wh	hen calculating the amount of the			
A person who files a	I have examined the	information in this Pr	oof of Claim a	id have a reasonab	le belief that	the informat	tion is true and correct.			
fraudulent claim could be fined up to \$500,000,	I declare under penal	ty of perjury that the	foregoing is tru	e and correct.						
imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.	Executed on date	$ \begin{array}{c c} 1 & 29 & 1010 \\ \hline MM / DD / YYYY \\ \hline D & O \\ \hline \end{array} $								
	Signature	~ 00	MAG							
	Signature			7						
	Print the name of th	e person who is cor	npleting and si	gning this claim:						
	Name	Sheila R. So	chwager							
BEREINEM		First name	N	1iddle name		Last name				
NEDENAED	Title	Attorney fo	or ARAM	ARK Unifor	rm & Ca	reer Ap	oparel, LLC			
JAN 3 n 2020	Company	Click here to enter	r text.							
		Identify the corpo	rate servicer as	the company if the	e authorized a	agent is a serv	vicer.			
KURTZHAN CARSON CONSULTANT	(j									
	Address	P.O. Box 16	517							
		Number	Street							
		Boise, Idah	o 83701							
		City		X		State	ZIP Code			
	Contact phone	208.344.600)0		Email	sschw	/ager@hawleytroxell.com			
		·····								



ATTORNEYS AND COUNSELORS

Hawley Troxell Ennis & Hawley LLP 877 Main Street, Suite 1000 P.O. Box 1617 Boise, Idaho 83701-1617 208.344.6000 www.hawleytroxell.com

DENISE SORG LEGAL ADMINISTRATIVE ASSISTANT EMAIL: DSORG@HAWLEYTROXELL.COM DIRECT DIAL: 208.388.4935

January 29, 2020

VIA UPS SECOND DAY AIR

HRI Claims Processing Center c/o KCC 222 N. Pacific Coast Highway Suite 300 El Segundo, CA 90245

Re: Proof of Claim / Houlihan's Restaurants, Inc.

Dear KCC,

Enclosed find the original Proof of Claim for ARAMARK Uniform & Career Apparel, LLC fka ARAMARK Uniform & Career Apparel, Inc. along with exhibits and one copy. Please file and send the conformed copy back to our office via the enclosed postage paid envelope.

Please give me a call with any questions you may have.

Sincerely,

HAWLEY TROXELL ENNIS & HAWLEY LLP

Denise Sorg Legal Administrative Assistant

:dsor

ATTACHMENT TO PROOF OF CLAIM HOULIHAN'S RESTAURANTS, INC. CASE NO. 19-12416

Unpaid Pre-Petition Invoices Liquidated Damages for Rejection of Contract	\$ 57,984.15 \$202,226.04
Unpaid Post Petition Invoices	\$ 32,154.42
TOTAL CLAIM	\$292,364.61

		HRI Holding				· · · · ·	
Pre-Petition							
File date:	11/14/2019						
Total Invoice					\$	57,984.15	
Total Pre-Petition	n				\$	57,984.15	
Consideration MAC			Data	Original and an		mount Due	News
Servicing MC	Invoice	Account	Date	Original amou			Name
561	1298428081	792182899	11/14/2019	\$ 510.1			DEVON SEAFOOD
624	1640928791	792032161	11/14/2019	\$ 431.5	-		HOULIHANS RESTAURANTS
546	1117875604	792491843	11/14/2019	\$ 381.6			HOULIHANS
546	1117874951	792583027	11/14/2019	\$ 323.1			J. GILBERTS
546	1117874917	792484308	11/14/2019	\$ 299.5		······	HOULIHANS
610	1592051063	792079241	11/14/2019	\$ 269.5			HOULIHANS
428	1824125062	792171809	11/13/2019	\$ 319.7		319.72	HOULIHAN'S #175
604	2082286053	792079231	11/13/2019		3\$	221.63	DEVONS SEAFOOD
546	1117873546	792548853	11/12/2019	\$ 11.8	3\$	11.83	HOULIHANS
603	2082283274	792549650	11/11/2019	\$ 529.1	9 \$	529.19	HOULIHANS #170
603	2082282645	792079229	11/11/2019	\$ 219.4	5\$	219.45	HOULIHANS
624	1640925882	792032160	11/11/2019	\$ 26.8	0 \$	26.80	HOULIHANS RESTAURANTS
546	1117871516	792548853	11/8/2019	\$ 370.8	8 \$	370.88	HOULIHANS
602	2082279728	792079240	11/8/2019	\$ 352.9	5\$	352.95	HOULIHANS
602	2082280102	792080550	11/8/2019	\$ 341.7	0 \$	341.70	DEVON SEAFOOD
610	1592044708	792161428	11/8/2019		7 \$	327.67	HOULIHANS
631	1748531543	792014188	11/8/2019		8 \$	324.98	HOULIHAN'S RESTAURANT
602	2082280107	792079238	11/8/2019				HCULIHANS
574	1076110110	792027927	11/8/2019	\$ 242.8	-	242.85	HOULIHANS
561	1298407505	792182899	11/7/2019	\$ 518.3		518.35	DEVON SEAFOOD
624	1640924077	792032161	11/7/2019	<u> </u>		416.12	HOULIHANS RESTAURANTS
546	1117870446	792491843	11/7/2019				HOULIHANS
546	1117870216	792484308	11/7/2019		-		HOULIHANS
546	1117870250	792583027	11/7/2019				J. GILBERTS
610	1592043095	792079241	11/7/2019				HOULIHANS
428	1824116043	792171809	11/6/2019				HOULIHAN'S #175
604	2082276481						· · · · · · · · · · · · · · · · · · ·
546	1117868892	792079231	11/6/2019 11/5/2019			· · · · · · ·	DEVONS SEAFOOD
	+				_ <u>+</u>		
603	2082273687	792549650	11/4/2019		-		HOULIHANS #170
603	2082273061	792079229	11/4/2019				HOULIHANS
624	1640921155	792032160	11/4/2019		-		HOULIHANS RESTAURANTS
546	1117866950	792548853	11/1/2.019		_		HOULIHANS
602	2082270180	792079240	11/1/2019				HOULIHANS
602	2082270554	792080550	11/1/2019				DEVON SEAFOOD
610	1592036746	792161428	11/1/2019		_	327.67	HOULIHANS
631	1748527574	792014188	11/1/2019		<u> </u>	· · · · ·	HOULIHAN'S RESTAURANT
602	2082270559	792079238	11/1/2019		6 \$	268.16	HOULIHANS
574	1076105241	792027927	11/1/2019		6\$	237.96	HOULIHANS
561	1298386841	792182899	10/31/2019		4 \$	517.44	DEVON SEAFOOD
624	1640919306	792032161	10/31/2019	\$ 446.0	1 \$	446.01	HOULIHANS RESTAURANTS

546	1117865867	792491843	10/31/2019	\$ 381.61	\$ 381.61	HOULIHANS
546	1117865641	792484308	10/31/2019	\$ 305.27	\$ 305.27	HOULIHANS
546	1117865676	792583027	10/31/2019	\$ 268.93	\$ 268.93	J. GILBERTS
610	1592035140	792079241	10/31/2019	\$ 268.29	\$ 268.29	HOULIHANS
428	1824107112	792171809	10/30/2019	\$ 331.57	\$ 331.57	HOULIHAN'S #175
604	2082266983	792079231	10/30/2019	\$ 221.63	\$ 221.63	DEVONS SEAFOOD
546	1117864269	792548853	10/29/2019	\$ 11.83	\$ 11.83	HOULIHANS
603	2082264255	792549650	10/28/2019	\$ 338.62	\$ 338.62	HOULIHANS #170
603	2082263627	792079229	10/28/2019	\$ 235.43	\$ 235.43	HOULIHANS
624	1640916345	792032160	10/28/2019	\$ 26.80	\$ 26.80	HOULIHANS RESTAURANTS
546	1117862317	792548853	10/25/2019	\$ 377.99	\$ 377.99	HOULIHANS
602	2082260719	792079240	10/25/2019	\$ 352.61	\$ 352.61	HOULIHANS
602	2082261097	792080550	10/25/2019	\$ 341.70	\$ 341.70	DEVON SEAFOOD
610	1592028884	792161428	10/25/2019	\$ 327.57	\$ 327.67	HOULIHANS
631	1748523643	792014188	10/25/2019	\$ 324.98	\$ 324.98	HOULIHAN'S RESTAURANT
602	2082261102	792079238	10/25/2019	\$ 268.16	\$ 268.16	HOULIHANS
574	1076100448	792027927	10/25/2019	\$ 245.37	\$ 245.37	HOULIHANS
561	1298366480	792182899	10/24/2019	\$ 506.10	\$ 506.10	DEVON SEAFOOD
624	1640914546	792032161	10/24/2019	\$ 418.45	\$ 418.45	HOULIHANS RESTAURANTS
546	1117861249	792491843		\$ 381.61	\$ 381.61	HOULIHANS
546	1117861022	792484308		\$ 328.06	\$ 328.05	HOULIHANS
546	1117861054	792583027		\$ 268.93	\$ 268.93	J. GILBERTS
610	1592027246	792079241		\$ 266.77	\$ 266.77	HOULIHANS
428	1824098088	792171809	10/23/2019	\$ 332.65	\$ 332.65	HOULIHAN'S #175
604	2082257482	792079231		\$ 221.63	\$ 221.63	DEVONS SEAFOOD
546	1117859700	792548853		\$ 11.83	\$ 11.83	HOULIHANS
603	2082254728	792549650		\$ 529.19	\$ 529.19	HOULIHANS #170
603	2082254107	792079229		\$ 242.57	\$ 242.57	HOULIHANS
624	1640911561	792032160	10/21/2019	\$ 26.80	\$ 26.80	HOULIHANS RESTAURANTS
546	1117857749	792548853	10/18/2019	\$ 396.26	\$ 396.26	HOULIHANS
602	2082251159	792079240	10/18/2019	\$ 352.61	\$ 352.61	HOULIHANS
602	2082251537	792080550	10/18/2019	\$ 341.70	\$ 341.70	DEVON SEAFOOD
631	1748519632	792014188	10/18/2019	\$ 324.98	\$ 324.98	HOULIHAN'S RESTAURANT
610	1592020889	792161428	10/18/2019	\$ 321.31	\$ 321.31	HOULIHANS
602	2082251542	792079238	10/18/2019	\$ 268.16	\$ 268.16	HOULIHANS
574	1076095616	792027927	10/18/2019	\$ 236.17	\$ 236.17	HOULIHANS
561	1298345904	792182899	10/17/2019	\$ 533.06	\$ 533.06	DEVON SEAFOOD
624	1640909772	792032161	10/17/2019	\$ 413.11	\$ 413.11	HOULIHANS RESTAURANTS
546	1117856711	792491843	10/17/2019	\$ 381.61	\$ 381.61	HOULIHANS
546	1117856484	792484308	10/17/2019	\$ 299.57	\$ 299.57	HOULIHANS
546	1117856518	792583027	10/17/2019	\$ 268.93	\$ 268.93	J. GILBERTS
610	1592019284	792079241	10/17/2019	\$ 260.79	\$ 260.79	HOULIHANS
428	1824089065	792171809	10/16/2019	\$ 324.88	\$ 324.88	HOULIHAN'S #175
604	2082247957	792079231	10/16/2019	\$ 203.90	\$ 203.90	DEVONS SEAFOOD
546	1117855147	792548853	10/15/2019		\$ 11.83	HOULIHANS
603	2082245101	792549650	10/14/2019	\$ 554.39	\$ 554.39	HOULIHANS #170
603	2082244474	792079229	10/14/2019	\$ 286.12	\$ 286.12	HOULIHANS
624	1640906842	792032160	10/14/2019	\$ 26.80	\$ 26.80	HOULIHANS RESTAURANTS
546	1117853243	792548853	10/11/2019	\$ 414.21	\$ 414.21	HOULIHANS

602	2082241572	792079240	10/11/2019	ć	352.61	\$	352.61	HOULIHANS
602	2082241372	792080550	10/11/2019	\$	341.70	\$		DEVON SEAFOOD
610	1592012948	792080330			321.31	ې \$		HOULIHANS
631	1748515699	792014188	10/11/2019		319.68	ې \$		HOULIHAN'S RESTAURANT
602	2082241952	792079238	10/11/2019	\$	268.16	\$		HOULIHANS
574	1076090839	792079238	10/11/2019	-	208.10	\$		HOULIHANS
561	1298325201	792182899			539.13	\$		DEVON SEAFOOD
624	1640905015	792032161			432.15	\$		HOULIHANS RESTAURANTS
546	1117852185	792491843	10/10/2019	\$	381.61	\$		HOULIHANS
546	1117851956	792491843	10/10/2019		299.57	\$		HOULIHANS
546	1117851990	792583027	10/10/2019		268.93	\$		J. GILBERTS
610	1592011302	792383027	10/10/2019	\$ \$	260.79	\$ \$		HOULIHANS
428					319.35	ې \$		HOULIHAN'S #175
	1824080080	792171809		ې \$	-	<u> </u>		DEVONS SEAFOOD
604	2082238358	792079231	10/9/2019	<u> </u>	221.63	\$		
546	1117850612	792548853	10/8/2019		11.83 554.39	\$		HOULIHANS HOULIHANS #170
603	2082235533	792549650	10/7/2019	-		\$		
603	2082234912	792079229	10/7/2019		251.36	\$		HOULIHANS
624	1640901980	792032160	10/7/2019		26.80	\$		HOULIHANS RESTAURANTS
546	1117848608	792548853	10/4/2019	\$	404.89	\$		HOULIHANS
602	2082231996	792079240	10/4/2019		352.61	\$		HOULIHANS
631	1748511741	792014188	10/4/2019	\$	348.60	\$		HOULIHAN'S RESTAURANT
602	2082232371	792080550	10/4/2019		341.70	\$		DEVON SEAFOOD
610	1592004929	792161428	10/4/2019		321.31	\$		HOULIHANS
602	2082232376	792079238	10/4/2019	\$	268.16	\$		HOULIHANS
574	1076085969	792027927	10/4/2019		225.39	\$		HOULIHANS
561	1298304519	792182899	10/3/2019		539.81	\$		DEVON SEAFOOD
624	1640900157	792032161			416.12	\$		HOULIHANS RESTAURANTS
546	1117847513	792491843	10/3/2019	\$	381.61	\$		HOULIHANS
546	1117847286	792484308	10/3/2019		299.57	\$		HOULIHANS
546	1117847321	792583027	10/3/2019		289.25	\$		J. GILBERTS
610	1592003280	792079241	10/3/2019	\$	260.26	\$		HOULIHANS
428	1824071196	792171809			331.14	\$		HOULIHAN'S #175
604	2082228835	792079231	10/2/2019	-				DEVONS SEAFOOD
546	1117845968	792548853	10/1/2019		11.83	\$		HOULIHANS
603	2082226093	792549650	9/30/2019		554.39	\$		HOULIHANS #170
603	2082225468	792079229	9/30/2019		241.91	\$		HOULIHANS
624	1640897245	792032160	9/30/2019		26.80	\$		HOULIHANS RESTAURANTS
546	1117844003	792548853	9/27/2019		378.24	\$		HOULIHANS
602	2082222583	792079240	9/27/2019		352.61	\$		HOULIHANS
631	1748507740	792014188			348.60	\$		HOULIHAN'S RESTAURANT
602	2082222961	792080550	9/27/2019		341.70	\$		DEVON SEAFOOD
610	1591996982	792161428	9/27/2019		320.25	\$		HOULIHANS
602	2082222966	792079238	9/27/2019		293.36	\$		HOULIHANS
574	1076081049	792027927	9/27/2019		226.97	\$		HOULIHANS
561	1298283790	792182899	9/26/2019		573.51	\$	573.51	DEVON SEAFOOD
624	1640895353	792032161	9/26/2019		414.41	\$		HOULIHANS RESTAURANTS
546	1117842969	792491843			381.61	\$		HOULIHANS
546	1117842778	792583027	9/26/2019		300.20	\$		J. GILBERTS
546	1117842746	792484308	9/26/2019	\$	299.57	\$	299.57	HOULIHANS

610	1591995290	792079241	9/26/2019	\$	261.35	\$	261.35	HOULIHANS
428	1824062172	792079241	9/26/2019	ې \$	331.14	<u>\$</u> \$		HOULIHAN'S #175
604	2082219299	792079231	9/25/2019	\$	221.63	\$		DEVONS SEAFOOD
546	1117841371	792548853	9/23/2019	\$	11.83	\$		HOULIHANS
603	2082216462	792549650	9/23/2019		604.79	\$	• • •	HOULIHANS #170
603	2082210402	792079229	9/23/2019	ې \$	189.74	\$		HOULIHANS
624	1640892405	792079229	9/23/2019	ې \$	26.80	\$		HOULIHANS RESTAURANTS
546	1117839424	792548853	9/20/2019		398.97	ې \$		HOULIHANS
602	2082212987	792079240	9/20/2019	\$	338.37	\$		HOULIHANS
631	1748503790	792079240	9/20/2019	\$	347.55	<u> </u>		HOULIHAN'S RESTAURANT
602		792014188	9/20/2019	\$	342.00	\$		DEVON SEAFOOD
610	2082213365 1591988907	792080330	9/20/2019		333.52	\$		HOULIHANS
602	2082213370	792161428	9/20/2019		290.26	ې \$		HOULIHANS
· · · · · · · · · · · · · · · · · · ·					290.28	\$ \$		
574	1076076191	792027927	9/20/2019	\$			·	
561	1298263142	792182899	9/19/2019		530.65	\$		DEVON SEAFOOD
624	1640890613	792032161	9/19/2019	\$		\$		HOULIHANS RESTAURANTS
546	1117838403	792491843	9/19/2019	\$	375.26	\$		HOULIHANS
546	1117838180	792484308	9/19/2019	\$	305.77	\$		HOULIHANS
546	1117838214	792583027	9/19/2019	-	282.90	\$		J. GILBERTS
610	1591987273	792079241	9/19/2019		273.72	\$		HOULIHANS
428	1824053200	792171809	9/18/2019	\$	325.65	\$		HOULIHAN'S #175
604	2082209760	792079231	9/18/2019		262.95	\$	262.95	DEVONS SEAFOOD
546	1117836831	792548853	9/17/2019	\$	11.62	\$		HOULIHANS
503	2082207024	792549650			766.75	\$		HOULIHANS #170
603	2082206395	792079229	9/16/2019		253.41	\$	253.41	HOULIHANS
624	1640887690	792032160	9/16/2019		26.29	\$		HOULIHANS RESTAURANTS
546	1117834918	792548853	9/13/2019		398.97	\$		HOULIHANS
610	1591980893	792161428			354.27	\$		HOULIHANS
631	1748499874	792014188	9/13/2019	\$	348.86	\$		HOULIHAN'S RESTAURANT
602	2082203500	792079240	9/13/2019	\$	347.33	\$		HOULIHANS
602	2082203878	792080550	9/13/2019	\$	335.79	\$		DEVON SEAFOOD
602	2082203883	792079238	9/13/2019	\$	313.19	\$	313.19	HOULIHANS
574	1076071416	792027927	9/13/2019					HOULIHANS
561	1298242260	792182899	9/12/2019	-	530.65	\$		DEVON SEAFOOD
546	1117833818	792491843	9/12/2019		409.15	\$		HOULIHANS
624	1640885875	792032161	9/12/2019		406.92	\$		HOULIHANS RESTAURANTS
546	1117833592	792484308	9/12/2019	<u> </u>	294.59	\$		HOULIHANS
546	1117833626	792583027	9/12/2019	· · · ·	282.90	\$		J. GILBERTS
610	1591980248	792079241	9/12/2019		272.27	\$		HOULIHANS
428	1824044250	792171809	9/11/2019		325.65	\$		HOULIHAN'S #175
604	2082200191	792079231	9/11/2019	-	293.03	\$		DEVONS SEAFOOD
546	1117832458	792548853	9/10/2019		11.62	\$		HOULIHANS
603	2082197394	792549650	9/9/2019		543.15	\$		HOULIHANS #170
603	2082196772	792079229	9/9/2019	t	251.75	\$		HOULIHANS
624	1640882969	792032160	9/9/2019	-	26.29	\$		HOULIHANS RESTAURANTS
546	1117824605	792583027	8/29/2019		270.16	\$		J. GILBERTS
631	1748488118	792014188	8/23/2019		342.66	\$		HOULIHAN'S RESTAURANT
546	1117820094	792484308	8/22/2019		327.91	\$		HOULIHANS
546	1117810989	792484308	8/8/2019	\$	312.47	\$	312.47	HOULIHANS

546	1117796466	792548853	7/16/2019	\$ 10.79	\$ 10.79	HOULIHANS
546	1117770839	792484308	6/6/2019	\$ 282.79	\$ 282.79	HOULIHANS
610	1591763872	792161428	3/8/2019	\$ 254.03	\$ 98.24	HOULIHANS
624	1640749372	792032160	2/25/2019	\$ 66.52	\$ 66.52	HOULIHANS RESTAURANTS
561	1297621684	792182899	2/14/2019	\$ 698.60	\$ 192.60	DEVON SEAFOOD

.

		HRI Holding						
Post-Petition								
Total Invoice						\$	32,154.42	
Total Post-Petition						\$	32,154.42	
Comisin - MC			Dete	0.				Nama
Servicing MC	Invoice	Account	Date		iginal amount		mount Due	
	1117770839	737157000	6/6/2019 7/16/2019		282.79	\$ \$	282.79	HOULIHANS RESTAURANTS
	1117796466	737157000			10.79	ې \$	10.79	HOULIHANS RESTAURANTS
	1117810989	737157000	8/8/2019 8/22/2019		312.47	\$ \$	312.47	HOULIHANS RESTAURANTS
	1117820094	737157000			327.91	ې \$	327.91	HOULIHANS RESTAURANTS
	1117832458	737157000	9/10/2019		11.62	· -	204.50	HOULIHANS RESTAURANTS
	1117833592	737157000	9/12/2019		294.59	\$	294.59	HOULIHANS RESTAURANTS
	1117833818	737157000	9/12/2019		409.15	\$	409.15	HOULIHANS RESTAURANTS
	1117834918	737157000	9/13/2019	-	398.97	\$	398.97	HOULIHANS RESTAURANTS
	1117836831	737157000	9/17/2019		11.62	\$	11.62	HOULIHANS RESTAURANTS
	1117838180	737157000	9/19/2019		305.77	\$	305.77	HOULIHANS RESTAURANTS
	1117838403	737157000	9/19/2019		375.26	\$	375.26	HOULIHANS RESTAURANTS
	1117839424	737157000	9/20/2019		398.97	\$	398.97	HOULIHANS RESTAURANTS
	1117841371	737157000	9/24/2019		11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117842746	737157000	9/26/2019		299.57	\$	299.57	HOULIHANS RESTAURANTS
	1117842969	737157000	9/26/2019		381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117844003	737157000	9/27/2019	\$	378.24	\$	378.24	HOULIHANS RESTAURANTS
	1117845968	737157000	10/1/2019		11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117847286	737157000	10/3/2019		299.57	\$	299.57	HOULIHANS RESTAURANTS
	1117847513	737157000	10/3/2019		381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117848608	737157000	10/4/2019	\$	404.89	\$	404.89	HOULIHANS RESTAURANTS
	1117850612	737157000	10/8/2019	\$	11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117851956	737157000	10/10/2019	\$	299.57	\$	299.57	HOULIHANS RESTAURANTS
	1117852185	737157000	10/10/2019	\$	381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117853243	737157000	10/11/2019	\$	414.21	\$	414.21	HOULIHANS RESTAURANTS
	1117855147	.737157000	10/15/2019	\$	11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117856484	737157000	10/17/2019	\$	299.57	\$	299.57	HOULIHANS RESTAURANTS
	1117856711	737157000	10/17/2019	\$	381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117857749	737157000	10/18/2019	\$	396.26	\$	396.26	HOULIHANS RESTAURANTS
	1117859700	737157000	10/22/2019	\$	11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117861022	737157000	10/24/2019	\$	328.06	\$	328.06	HOULIHANS RESTAURANTS
	1117861249	737157000	10/24/2019	\$	381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117862317	737157000	10/25/2019	\$	377.99	\$	377.99	HOULIHANS RESTAURANTS
	1117864269	737157000	10/29/2019	\$	11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117865641	737157000	10/31/2019	\$	305.27	\$	305.27	HOULIHANS RESTAURANTS
	1117865867	737157000	10/31/2019		381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117866950	737157000	11/1/2019	\$	373.15	\$	373.15	HOULIHANS RESTAURANTS
	1117868892	737157000	11/5/2019		11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117870216	737157000	11/7/2019		299.57	\$	299.57	HOULIHANS RESTAURANTS
	1117870446	737157000	11/7/2019		381.61	\$	381.61	HOULIHANS RESTAURANTS
	1117871516	737157000	11/8/2019		370.88	\$	370.88	HOULIHANS RESTAURANTS
	1117873546	737157000	11/12/2019		11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117887529	737157000	12/3/2019		11.83	\$	11.83	HOULIHANS RESTAURANTS
	1117888871	737157000	12/5/2019		299.57	\$	299.57	HOULIHANS RESTAURANTS
			, 5, 2015	r		۳		

<u> </u>					Τ.	
	1117890212	737157000	12/6/2019		+ · · · · · · · ·	HOULIHANS RESTAURANTS
	1117892204	737157000	12/10/2019		\$ 11.83	HOULIHANS RESTAURANTS
	1117893168	737157000	12/11/2019		· · · · · · · · · · · · · · · · · · ·	HOULIHANS RESTAURANTS
	1117893568	737157000	12/12/2019			HOULIHANS RESTAURANTS
	1117893800	737157000	12/12/2019			HOULIHANS RESTAURANTS
	1117894910	737157000	12/13/2019		\$ 379.89	HOULIHANS RESTAURANTS
	1117896877	737157000	12/17/2019	\$ 11.83	\$ 11.83	HOULIHANS RESTAURANTS
	1117898221	737157000	12/19/2019		\$ 270.32	HOULIHANS RESTAURANTS
	1117898455	737157000	12/19/2019	\$ 381.61	\$ 381.61	HOULIHANS RESTAURANTS
	1117899549	737157000	12/20/2019	\$ 379.89	\$ 379.89	HOULIHANS RESTAURANTS
	1117901554	737157000	12/24/2019	\$ 11.83	\$ 11.83	HOULIHANS RESTAURANTS
	1748547356	792014188	12/6/2019	\$ 314.38	\$ 314.38	HOULIHANS RESTAURANTS, INC
	1748551312	792014188	12/13/2019	\$ 314.38	\$ 314.38	HOULIHANS RESTAURANTS, INC
	1748555259	792014188	12/20/2019	\$ 314.38	\$ 314.38	HOULIHANS RESTAURANTS, INC
	1076071416	792027927	9/13/2019	\$ 233.45	\$ 233.45	HOULIHANS RESTAURANT'S, INC
	1076076191	792027927	9/20/2019		\$ 226.88	HOULIHANS RESTAURANTS, INC
	1076081049	792027927	9/27/2019	\$ 226.97		HOULIHANS RESTAURANTS, INC
	1076085969	792027927	10/4/2019		\$ 225.39	HOULIHANS RESTAURANTS, INC
	1076090839	792027927	10/11/2019		·	HOULIHANS RESTAURANTS, INC
	1076095616	792027927	10/18/2019			HOULIHANS RESTAURANTS, INC
	1076100448	792027927	10/25/2019			HOULIHANS RESTAURANTS, INC
	1076105241	792027927	11/1/2019			HOULIHANS RESTAURANTS, INC
	1076110110	792027927	11/8/2019		\$ 242.85	HOULIHANS RESTAURANTS, INC
		· · · · · · · · · · · · · · · · · · ·	11/8/2019			
	1076119752	792027927				HOULIHANS RESTAURANTS, INC
	2082282645	792079229	11/11/2019		<u> </u>	HOULIHANS RESTAURANTS, INC
	2082290306	792079229	11/15/2019		\$ 485.76	HOULIHANS RESTAURANTS, INC
	2082289682	792079238	11/15/2019			HOULIHANS RESTAURANTS, INC
	2082318420	792079238	12/6/2019			HOULIHANS RESTAURANTS, INC
	2082328104	792079238	12/13/2019			HOULIHANS RESTAURANTS, INC
	2082337867	792079238	12/20/2019		1 · · · · ·	HOULIHANS RESTAURANTS, INC
	2082318037	792079240	12/6/2019		\$ 352.61	HOULIHANS RESTAURANTS, INC
	2082327720	792079240	12/13/2019		\$ 352.61	HOULIHANS RESTAURANTS, INC
	2082337486	792079240	12/20/2019			HOULIHANS RESTAURANTS, INC
· · · · · · · · · · · · · · · · · · ·	1592075432	792079241	12/5/2019			HOULIHANS RESTAURANTS, INC
	1592084207	792079241	12/12/2019	\$ 272.58	\$ 272.58	HOULIHANS RESTAURANTS, INC
	1592092886	792079241	12/19/2019	\$ 272.58	\$ 272.58	HOULIHANS RESTAURANTS, INC
	2082318415	792080550	12/6/2019	\$ 344.85	\$ 344.85	HOULIHANS RESTAURANTS, INC
	2082328099	792080550	12/13/2019	\$ 341.70	\$ 341.70	HOULIHANS RESTAURANTS, INC
	2082337862	792080550	12/20/2019	\$ 341.70	\$ 341.70	HOULIHANS RESTAURANTS, INC
	1592052681	792161428	11/15/2019	\$ 361.20	\$ 361.20	HOULIHANS RESTAURANTS, INC
	1592060548	792161428	11/22/2019	\$ 329.70	\$ 329.70	HOULIHANS RESTAURANTS, INC
	1824152082	792171809	12/4/2019	\$ 319.35	\$ 319.35	HOULIHANS RESTAURANTS, INC
	1824151167	792171809	12/11/2019	\$ 319.35	\$ 319.35	HOULIHANS RESTAURANTS, INC
	1824170242	792171809	12/18/2019	\$ 318.81	\$ 318.81	HOULIHANS RESTAURANTS, INC
	1298470670	792182899	11/28/2019		\$ 111.82	HOULIHANS RESTAURANTS, INC
	1298488949	792182899	12/5/2019			HOULIHANS RESTAURANTS, INC
	1298488955	792182899	12/5/2019			HOULIHANS RESTAURANTS, INC
	1298509529	792182899	12/12/2019			
	1298530543	792182899	12/19/2019			HOULIHANS RESTAURANTS, INC
	2082312004	792549650	12/13/2019	+		HOULIHANS RESTAURANTS, INC
	2082312004		12/9/2019			HOULIHANS RESTAURANTS, INC
					1 ·····	
	2082331253		12/16/2019	· · · · · · · · · · · · · · · · · · ·		HOULIHANS RESTAURANTS, INC
	2082341082	792549650	12/23/2019	\$ 522.83	\$ 522.83	HOULIHANS RESTAURANTS, INC

	1117824605	792583027	8/29/2019	\$ 270.16	\$ 270.16	J. GILBERTS
	1117833626	792583027	9/12/2019	\$ 282.90	\$ 282.90	J. GILBERTS
	1117838214	792583027	9/19/2019	\$ 282.90	\$ 282.90	J. GILBERTS
	1117842778	79258302 7	9/26/2019	\$ 300.20	\$ 300.20	J. GILBERTS
	111.7847321	792583027	10/3/2019	\$ 289.25	\$ 289.25	J. GILBERTS
	1117851990	792583027	10/10/2019	\$ 268.93	\$ 268.93	J. GILBERTS
	1117856518	792583027	10/17/2019	\$ 268.93	\$ 268.93	J. GILBERTS
	1117861054	792583027	10/24/2019	\$ 268.93	\$ 268.93	J. GILBERTS
	1117865676	792583027	10/31/2019	\$ 268.93	\$ 268.93	J. GILBERTS
· · · · · ·	1117870250	792583027	11/7/2019	\$ 282.48	\$ 282.48	J. GILBERTS
	1117888905	792583027	12/5/2019	\$ 336.66	\$ 336.66	J. GILBERTS
	1117893603	792583027	12/12/2019	\$ 340.29	\$ 340.29	J. GILBERTS
	1117898254	792583027	12/19/2019	\$ 340.29	\$ 340.29	J. GILBERTS
	1640930599	796094000	11/18/2019	\$ 26.80	\$ 26.80	HOULIHANS RESTAURANTS
	1640936141	796094000	11/25/2019	\$ 991.50	\$ 991.50	HOULIHANS RESTAURANTS

/

ramar	'k 🏹 ———		[T		[
	V.	Cost - Loss Charge	es on all Merchan	dise: WE 01/10/	2020	<i>,</i>		
CID	Customer City	Customer State	ltem	Inventory.		placement Rate		Buyout rrent Rate
792392749	CHAMPAIGN		NP0017	8086	\$	0.970	\$	7,843.42
792392749	CHAMPAIGN	IL	NP0018 52X90	50	\$	17.000	\$	850.0
792392749	CHAMPAIGN	IL	AP0113	180	\$	4.590	\$	826.2
792392749	CHAMPAIGN	IL.	TO0016	1200	\$	0.950	\$	1,140.0
792392749	CHAMPAIGN	IL	TO0017	400	\$	0.950	\$	380.0
792392749	CHAMPAIGN	IL	DM1704 3X10	2	\$	124.480	\$	248.9
792392749	CHAMPAIGN	IL.	DM1704 4X6	2	\$	98.550	\$	197.1
5333857	DUBUQUE	IA	AP0113	200	\$	4.590	\$	918.0
5333857	DUBUQUE	IA	NP0017	5000	\$	0.970	\$	4,850.0
5333857	DUBUQUE	IA	DM0001 4X6	4	\$	89.210	\$	356.8
5333857	DUBUQUE	IA	TO0016	1000	\$	0.950	\$	950.0
5333858	DUBUQUE	IA	NP0018 52114	70	\$	23.680	\$	1,657.6
5333858	DUBUQUE	IA	NP0018 85X85	60	\$	30.000	\$	1,800.0
5333858	DUBUQUE	IA	NP0017	1600	\$	0.970	\$	1,552.0
5333858	DUBUQUE	IA	TO0016	200	\$	0.950	\$	190.0
792549650	NAPERVILLE	IL	DM0001 4X6	10	\$	89.210	\$	892.1
792549650	NAPERVILLE	IL	TO0047	1700	\$	0.950	\$	1,615.0
792549650	NAPERVILLE		AP0113	300	\$	4.590	\$	1,377.0
792549650	NAPERVILLE		NP0017	8000	\$	0.970	\$	7,760.0
792014188	GRAND RAPIDS	MI	DM0001 4X6	6	\$	89.210	\$	535.2
792014188	GRAND RAPIDS	MI	TO0016	800	\$	0.950	\$	760.0
792014188	GRAND RAPIDS	MI	TO0047	1200	\$	0.950	\$	1,140.0
792014188	GRAND RAPIDS	M	NP0017	7500	\$	0.970	\$	7,275.0
792014188	GRAND RAPIDS	MI	DM0001 3X10	2	\$	119.290	\$	238.5
792014188	GRAND RAPIDS	M	DM0001 3X10	2	\$	58.090	\$	232.3
792014188	GRAND RAPIDS	MI	AP0113	400	\$	4.590	\$	1,836.0
792014188	SCHERERVILLE		DM0001 4X6	6	\$	89.210	\$	535.2
					\$	4.590	\$	642.6
792011797	SCHERERVILLE		AP0113	140	\$	0.950	⇒ \$	570.0
792011797	SCHERERVILLE		TO0047	600	\$		₽ S	
792011797			TO0016	400		0.950	<u> </u>	380.0
792011797	SCHERERVILLE	IN	DM0001 3X10	4	\$	119.290	+	477.1
792011797	SCHERERVILLE	IN	NP0017	5500	\$	0.970	\$	5,335.0
792011797	SCHERERVILLE	<u>IN</u>	AP0113	50	\$	4.590	\$	229.5
792011797	SCHERERVILLE	IN	GO0953	14	\$	18.150	\$	254.1
792011797	SCHERERVILLE	IN	GO0953	50	\$	18.150	\$	907.5
792011797	SCHERERVILLE	IN	GO0953	35	\$	18.150	\$	635.2
792011797	SCHERERVILLE	IN	GO0953	50	\$	18.150	\$	907.5
792011797	SCHERERVILLE	IN	GO0953	60	\$	18.150	\$	1,089.0
792171809	NOBLESVILLE	IN	DM0001 4X6	4	\$	89.210	\$	356.8
792171809	NOBLESVILLE	IN	DM0001 3X4	4	\$	58.090	\$	232.3
792171809	NOBLESVILLE	<u> </u>	AP0113	220	\$	4.590	\$	1,009.8
792171809	NOBLESVILLE	IN	TO0016	1200	\$	0.950	\$	1,140.0
792171809	NOBLESVILLE	<u>IN</u>	NP0017	9500	\$	0.970	\$	9,215.0
792080550	OAKBROOK TERRACE	IL	GO1538	80	\$	19.190	\$	1,535.2
792080550	OAKBROOK TERRACE	IL	GO1538	125	\$	19.190	\$	2,398.7
792080550	OAKBROOK TERRACE	IL	GO1538	60	\$	19.190	\$	1,151.4
792080550	OAKBROOK TERRACE	IL	DM0001 4X6	2	\$	89.210	\$	178.4
792080550	OAKBROOK TERRACE	IL	DM0001 3X10	2	\$	119.290	\$	238.5
792080550	OAKBROOK TERRACE	IL	NP0017	7000	\$	0.970	\$	6,790.0
792080550	OAKBROOK TERRACE	IL	NP0018 52114	50	\$	23.680	\$	1,184.0

792080550	OAKBROOK TERRACE	IL .	AP0113	200	\$ 4.590	\$	918.00
792080550	OAKBROOK TERRACE		NP0018 52X52	40	\$ 17.000	\$	680.00
792080550	OAKBROOK TERRACE		TO0016	1527	\$ 0.950	\$	1,450.65
792080550	OAKBROOK TERRACE		GO1538	130	\$ 19.190	\$	2,494.70
792080550	WHEATON	1L	NP0017	5600	\$ 0.970	\$	5,432.00
		iL	AP0113	180	\$ 4.590	\$	826.20
792079238	WHEATON	1L 1L			\$ 0.950	\$	1,520.00
792079238	WHEATON		TO0016	1600 6	\$ 58.090	\$	348.54
792079238			DM0001 3X4	950	\$ 1.280	\$	1,216.00
792079240	PARK RIDGE		NP0086		\$	\$	72.75
792079240			TO0008	75	\$ 0.970	⊅ \$	5,820.00
792079241	GENEVA		NP0017	6000	 0.970	+ <u>+</u>	
792079241	GENEVA		AP0113	500	\$ 4.590	\$	2,295.00
792079241	GENEVA		TO0016	1650	\$ 0.950	\$	1,567.50
792079241	GENEVA		DM0001 4X6	4	\$ 89.210	\$	356.84
792544700	SOUTH SAN FRANCISCO	CA	NP0017	8000	\$ 0.970	\$	7,760.00
792544700	SOUTH SAN FRANCISCO	CA	AP0113	200	\$ 4.590	\$	918.00
792544700	SOUTH SAN FRANCISCO	CA	TO0016	2000	\$ 0.950	\$	1,900.00
792544700	SOUTH SAN FRANCISCO	CA	NP0018 52X52	30	\$ 17.000	\$	510.00
792583027	COLUMBUS	OH	AP0115	240	\$ 4.590	\$	1,101.60
792583027	COLUMBUS	ОН	NP0018 52X52	60	\$ 17.000	\$	1,020.00
792583027	COLUMBUS	ОН	TO0047	1000	\$ 0.950	\$	950.00
792583027	COLUMBUS	ОН	NP0017	4000	\$ 0.970	\$	3,880.00
792583027	COLUMBUS	OH	DM1704 4X6	2	\$ 98.550	\$	197.10
792583027	COLUMBUS	OH	DM0001 3X10	2	\$ 119.290	\$	238.58
792182899	MIAMI	<u> </u>	NP0018 52114	290	\$ 23.680	\$	6,867.20
792182899	MIAMI	FL	DM0001 3X4	4	\$ 58.090	\$	232.36
792182899	MIAMI	FL	AP0115	240	\$ 4.590	\$	1,101.60
792182899	MIAMI	FL	TO0016	2000	\$ 0.950	\$	1,900.00
792182899	MIAMI	FL	NP0017	8000	\$ 0.970	\$	7,760.00
792182899	MIAMI	FL	NP0017	1140	\$ 0.970	\$	1,105.80
792182899	MIAMI	FL	GO0953	88	\$ 18.150	\$	1,597.20
792182899	MIAMI	FL	GO0953	44	\$ 18.150	\$	798.60
792182899		FL	GO0953	22	\$ 18.150	\$	399.30
792182899	MIAMI	FL	GO0953	56	\$ 18.150	\$	1,016.40
792182899		FL	GO0953	14	\$ 18.150	\$	254.10
792544695	SOUTH SAN FRANCISCO	CA	NP0017	800	\$ - 0.970	\$	776.00
792544695	SOUTH SAN FRANCISCO	CA	NP0018 85X85	480	\$ 30.000	<u> </u>	14,400.00
792544695	SOUTH SAN FRANCISCO	CA	TO0016	100	\$ 0.950	\$	95.00
792491843	CRANBERRY	PA	AP0113	350	\$ 4.590	\$	1,606.50
792491843	CRANBERRY	PA	DM0001 3X4	12	\$ 58.090	\$	697.08
792491843	CRANBERRY	PA	TO0016	1600	\$ 0.950	\$	1,520.00
792491843	CRANBERRY	PA	NP0017	11000	\$ 0.970	\$	10,670.00
792548853	PITTSBURGH	PA	AP0113	175	\$ 4.590	\$	803.25
792548853	PITTSBURGH	PA	TO0016	1600	\$ 0.950	\$	1,520.00
792548853	PITTSBURGH	PA	NP0017	10000	\$ 0.970	\$	9,700.00
792484308	UPPER ARLINGTON	ОН	TO0047	1429	\$ 0.950	\$	1,357.55
792484308	UPPER ARLINGTON	ОН	NP0017	8000	\$ 0.970	\$	7,760.00
						\$ 2	02,226.04

,

SERVICE AGREEMENT

This **SERVICE AGREEMENT** (this "Agreement") is made this 1st day of September, 2014, between Houlihan's Restaurants, Inc., a Delaware corporation, with offices at 8700 State Line Road, Suite 100, Leawood, KS 66206_ ("Customer"), and **ARAMARK UNIFORM SERVICES**, a division of ARAMARK Uniform & Career Apparel, LLC, a Delaware limited liability company, with offices at 115 North First Street, Burbank, California 91502 ("Company") and supersedes the existing agreement between the parties made on July 7, 2011.

Section 1. (a) Company agrees to supply and Customer agrees to rent garments and/or other items (collectively, "Merchandise") as described on Schedule I attached hereto and related services (the "Services") exclusively from Company. The rental/service charges and the loss/ruin charges for the Merchandise and Services are all set forth on Schedule I.

(b) The Merchandise and Services shall be provided at those Customer locations identified on Schedule II attached hereto, and at all other additional locations where the decision has been made to utilize textile rental services, all of which shall be in accordance with the terms, conditions and schedule of charges set forth herein or on the schedules attached hereto. For Customer locations serviced by Company prior to the Effective Date (defined in Section 4) of this Agreement, any such charges shall be implemented within forty-five (45) days from the Effective Date of this Agreement. Customer acknowledges and agrees that it will provide prompt written notice to Company of any newly opened or acquired location(s).

(c) All Merchandise supplied to Customer under this Agreement is the property of Company and shall be promptly returned on demand. Customer agrees to be responsible for Merchandise lost or damaged by customer except through normal wear and tear.

REDACTED

REDACTED

Section 4. The initial term of this Agreement shall be for one hundred and fifty-six (156) consecutive weeks from September 1, 2014 (the "Effective Date"). Thereafter, this Agreement shall automatically be renewed for successive fifty-two (52) consecutive week periods. During any such renewal term, either party may terminate this Agreement, with or without cause, by giving the other party at least ninety (90) days' prior written notice of termination (by means of email or U.S. mail, return receipt requested). In the event of a change in ownership or other transfer of substantially all of the common stock of Customer, the term of this Agreement will be limited to not less than seventy-eight (78) weeks; provided, however, in addition to the minimum 78-week term, Customer shall provide Company with 90 days' prior written notice of its intent to terminate in such event.

REDACTED

REDACTED

Section 9. (a) Upon any termination (with or without cause) or expiration of this Agreement, Customer agrees to pay all Merchandise loss/ruin charges for items that are lost and/or damaged and all unpaid statements for each and every location so terminated or expired.

(b) Customer acknowledges that Company will make an investment in Merchandise in order to service the needs of Customer.

(c) Upon any cancellation, breach or other early termination of this Agreement by Customer, without cause, Customer shall pay Company as liquidated damages (intended as a good faith pre-estimate of the actual damages Company would incur and not as a penalty) for each and every location so terminated, an amount equal to the greater of (i) fifty percent (50%) of the average weekly charges at such location(s) during the three (3) months prior to termination <u>times</u> the number of weeks remaining in the term (or any renewal term) of this Agreement or (ii) the then current loss/ruin charge for each item of Merchandise being provided to Customer at such location(s).

REDACTED

REDACTED

<u>Section 21</u>. This Agreement shall not be binding upon Company until executed by an authorized Company representative.

IN WITNESS WHEREOF, the undersigned, by their duly authorized representatives, have executed this Agreement as of the day and year first above written.

ARAMARK UNIFORM SERVICES a division of ARAMARK Uniform & Carear Apparal, LLC

By: By: Vy v Name: / Term Ober Sto *0 S

Title: Group Manager VP Date: 8/22/14

[CUSTOMER]

hats

eg)(

SCHEDULE 1 - PRICING

Aremark Item Code		Colot	Bize	Unit Rental 9ncs	Concepts	Rental Inventory	Loas/Ruin Crarge	Minimum baling es A % af Invantury*	CAuto Replacement M
APRONS	en e							***-	
AP-0113	No Pocket Apron 28x32	White	N/A	-	Houlihen's & Speciatly	TBD			
P-0181-WHIT	Bistro Apron	White	Sv Ex		Speciatly	TBD			
OVER GARME	INT8				. Mer er same				
30-0953	Chef Cost	White	N/A		Specially	11			-1
O-1538	Chef Coat with French Knot Bultons	White	N/A		Specially	11			
S-0D46	Cocks Shirt	White	N/A	-	Specially	11			
30-6000	Chef Coal NOG Wash	White	N/A		Speciatly	-			
ABLE LINEN	a second for a second second second second	a service and a service of the servi			State in the second	:			
IP-0017	20x20 Poly Spun Napkins	Black	20x20	- '	Houlihan's & Speciatly	TBD			
IP-0017	20x20 Poly Spun Nepkins	White	20x20		Speciatly	TBD			
P-0018	Poly Spun Tablecloth 52x52	White	52x52		Houlihan's & Specially	T8D			
(P-0018 .	Paly Spun Teblecloth 61x61	White	B1xC1		Houlihan's & Specially	TBD			
P-0018	Poly Spun Tablecloth 85x85	White	85x85		Houlihan's & Specially	TBD			_
VP-0018	Poly Spun Tablacioth 52x114	Black	52x114		Specially	TBDZE	<u> </u>		
VP-0018	Poly Spun Tablecloth 52x114	While	52x114		Specially	TBD	R R		
VP-0018	Poly Spun Tabledoth WHIT-71x71	White	71X71		Specially	TBDarse	/ Recent		
OWELS OTHE	References to the second s		· · · · ·		· · · ·				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
D-0016	Bar Mops 100% Cotton Terry	WHITE	N/A		Houlihan's & Speciatly	TBD	I Bassa		
0-0047	Ber Mops 100% Cotton Terry	BLUE	N/A		Houlihan's & Speciatly	TBD		19 N 19	
0-0037	Dish Towels 100% Cotton	WHITE/GREEN STR	N/A	-	Houlihan's & Speciatly	TBD			
ATS	A second s	· · · · · · · · · · · · · · · · · · ·		1	· · · · · · · · · · · · · · ·				
M-0001	3x4 Mat	ANY	3x4	- 1	Speciatly	TBD			
M-COD1	4x6 Mat	ANY	4x6	- 1	Speciatly	TBD			7
M-0001	3x10 Mat	ANY	3x10	-	Speciatly	TED			
M-1704	4x6 Steady Step Mat	ANY	4x8	- 1	Speciatly	TBD			-
M-1704	3x10 Steady Step Met	ANY	3x10	- 1	Speciatly	TED			
USTOMER EQ		···	aaaa ahaa ahaa		••••••••••••••••••••••••••••••••••••••				
E-0120	Bag Stand	N/A	N/A N		Houlihan's & Specially	N/A	The second s		-
X-0108	Nylon Bags	N/A	N/A N		Houlihan's & Speciatly	N/A			
E-0066	Garment Lockers	Grey	N/A N	a	Houlihan's & Speciatly	N/A			
	Soil Cart	Grøy	N/A IN	ç l	Houlihan's & Speciatly	NA			
(X-0104	Laundry Bag	Blue	N/A N		Houlihan's & Specially	TBD	•~~		

السب وواد والمراجع والواد المسر

todentee. Finance in an energy of energy in energy of each of each the and, the and, and a set of the set

Murray C. Meikenhous Dig'tally signed by Murray C. Meikenhous DN: cn=Murray C. Meikenhous, o=Houlihan's Restaurants, inc., ou=Vice President of Purchasing, email=mmeikenhous@houlihans.com, c=U3 Date: 2015.11.12 10:24:25 -06'00'

Houilhan's Representative Signature

resentative Signature

11/20/15 Date

Date

SCHEDULE II

CUSTOMER LOCATIONS

🔊 ARAMARK

MC	CID	LOCATION NAME	LOCATION ADDRESS	ADDRESS 2	LOCATION CITY	ST	ZIP
610	792161428	Houlihan's #181	1508 S Randall Rd.		Algonquin	IL	60102
604	792079231	Devon #153	39 E. Chicago Ave		Chicago	IL.	60611
602	792079241	Houlihan's #157	1322 Commons Drive		Geneva	IL.	60134
603	792079242	Houlihan's #004	56 Oakbrook Ctr		Oak Brook	ĩL	60523
603	792079229	Houlihan's #165	16153 La Grange Road		Orland Park	۱L	60462
602	792079240	Houlihan's #167	550 w. Touhy Ave	Bldg C -1	Park Ridge	IL.	60068
604	792079238	Houlihan's #123	321 Rice Lake Sq		Wheaton	IL	60187
428	792171808	Houlinan's #176	6020 East 82nd St		Indianapolis	IN	46250
428	792171809	Houlihan's #175	14065 Town Center Blvd		Noblesville	TN	46060
574	792027927	Houlihan's #070	5732 W Saginaw Hwy		Lansing	MI	48917
631	792014188	Houlihan's #181	201 West Fulton		Grand Rapids	M	49512
602	792080550	Devon #180	17 W 400 22nd Street		Oakbrook Terrace	IŁ	60181
417	792422691	Houllhan's #186	2203 Promenade Blvd Ste 15100		Rogers	AR	72758
546	792491843	Houlihan's #173	20406 Route 19		Cranberry Township	PA	16068
548	792484308	Houlihan's #182	3150 Tremont Road		Upper Arlington	OH	43221
561	792182899	Devon #179	11715 Sherry Lane		Mlami	FL	33183
610		Houlihan's #170	Naperville Crossings	2860 Showplace Dr.	Naperville	L	80540
546		Houlihan's #045	125 W. Station Square Dr.	-	Pittsburgh	PA	15219
546		Houlihan's #150	1500 Washington Rd.		Pittsburgh	PA	15228
546		Houlihan's #151	190 Robinson Center Dr.	Space #1210	Pittsburgh	PA	15205

AMENDMENT TO SERVICE AGREEMENT HOULIHAN'S RESTAURANT, INC.

This Amendment is dated as of September 14, 2015 between Houlihan's Restaurants, Inc. ("Customer") and Aramark Uniform Services, a division of, ARAMARK Uniform & Career Apparel, LLC ("Company").

Reference is made to that certain Service Agreement dated September 01, 2014 as amended, (the "Agreement") between Customer and Company.

The parties agree that the Agreement will be amended as follows upon the execution of this Amendment:

1. Each of the Customer and Company agrees that the following item(s) will be added to the Agreement:

Item code	Item Description	Size	Rental Rate	Coss/Ruin Raie Billing
AP-0181-WHIT	Bistro Apron	Service Express		

- 2. Each of Customer and Company agrees that except as amended by this Amendment, all other terms and conditions set forth in the Agreement shall remain in full force and effect.
- 3. This Amendment shall not be binding upon Company until executed by a corporate officer of Company.

HOULIHAN'S RESTAURAN	NTS, INC.	ARAMARK UNIFORM SERVICES,						
Murray C.	Digitally signed by Murray C. Meikenhous DN: cn=Murray C. Meikenhous, n=Routhan's Detwomentations and Marchaet and	a division of ARAMARK Uniform & Career Apparel, LLC						
By: Meikenhous	Resteurants, Inc., our-Vice President of Purchasing, email=mmelkenhous@houlihans.com, c=US Date: 2015.09.17 17;00:11-05'00'	By: Talabach IN						
Title:		Title: UP Strackey: C Hard						
Date:		Date: 9-18-15						

AMENDMENT TO SERVICE AGREEMENT

HOULIHAN'S RESTAURANTS, INC.

This Amendment is dated as of November 10, 2015, between Houliban's Restaurants, Inc. ("Customer") and Aramark Uniform Services, a division of Aramark Uniform & Career Apparel, LLC ("Company").

Reference is made to that certain Service Agreement dated September 1, 2014, as amended, (the "Agreement") between Customer and Company.

The parties agree that the Agreement will be amended as follows upon the execution of this Amendment:

1. Each of the Customer and Company agrees that the following items will be added to the Service Agreement:

				and a	N B	ñ		10000		
	11) 			8.07						
51103	1.00 (J2.000)	0.022				1				
NP-C017	Napkin	White	13 B	691559		8 B	6	0000000	1000	
	-	(

- 2. Each of Customer and Company agrees that except as amended by this Amendment, all other terms and conditions set forth in the Agreement shall remain in full force and effect.
- 3. This Amendment shall not be binding upon Company until executed by a corporate officer of Company.

HOULIHAN'S RESTAURANTS, INC.

ARAMARK UNIFORM SERVICES. a division of ARAMARK Uniform & Career Apparel, LLC

	Murray C.	Digitally signed by Murray C. Meikenhous DN: cn=Murray C. Meikenhous, o=Houlihaa's Restaurants, Inc., ou=Vice President of
By:	Meikenhous	Purchasing, emailemmekenhous@houlihans.com, c=US Date: 2015.11.12.10:30:05 -05'00'

Title:____

Date:

Title: Date: